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5 HIE=2 X0 HESAQ AR
1 S22 A
2 E2F DA
7 3 E2H DA
4 S22 A
5 S22t A
1 Ot A dlolHlAe FEM=E
2 Ot A dlolHIAS REMM=E
8 3 Ot A dlolglAe REM=
4 Ot A dloldlAS FREM=E
5 Ot A dlolglAae EEMM=
1 Sidl 39 REM=E
2 Sidl 39 REM=E
9 3 SiHl =29 EMWX
4 Sidl s REM=E
5 Sidl 29 REM=E
1 A ClZHS FHEHE
2 A ClZHS FAEHE
10 3 A ClEHS FMUE
4 A 2lZHS FEME
5 AM 2lZHS FAEHE
1 OlGHHIAl S @AAERISl BEETYE
2 OtotEIAl S LAAERZS] RETHE
11 3 OlSHHIAl S Q@AAERIS BEETHE
4 OtSHHIAl S QAIAERS FETHE
5 OlGHHIAl S @AAERISl BEETYE
1 clEE ZoHS FEHE
2 clEE ZoHS FAHE
12 3 ClElSE ZoHe FEIHE
4 ClElSE ZoHe FEIHE
5 ClEE ZoHS FAHE
1 g8 oz HEHEs FAME
2 g H=oZ2 NEiEe BEME
13 3 g H=oZ2 NEiEe BEME
4 g H=oZ2 NEiEe BEME
5 g =20z HEHEs FAME
1 M=oz MNgil2s REME
2 AH=Ro2 NMNgol2es BEME
14 3 AH=Ro2 Mgl BEME
4 =202 Mgl BEME
5 AH=oz MNgil2s BEME
1 JIZ A
2 JIL A
15 3 DIR=gN;
4 DIR= SN
5 JIZ DA
5. 8XEII ¢Y
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